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f {%il) Lload("dg")%

? (%12) ext euclid(342,181);
(%02) [9,-17,1]

¥ (%13) m:50;
totient(m);
create list(create list{(mod{k*11"i,m),i,1,5),k,I
create list(create list(mod(%[k]"i,m),1i,1.,4),k,2
(%03) 50
(%04) 20
(%05) [[11,21,31,41,11,1[33,13,43,23,31,127,47,17,37,71,149,39,29,19,9]]
(%06) [[[33,13,43,23,3],[39,19,49,29,9],137,47,7,17,27],121,11,1,41,31]
1.1127,47,17,37,71,1029,9,39,19,49],[33,23,13,3,43]1,1[41,31,21,11,111,11I
49,39,29,19,91,[1,21,41,11,231]1,([49,19,39,9,29]1,[1,41,231,21,11111

' (%i7) mods:[13,46/2,5];

rems: [mod(inv _mod(5,mods[1])*2,meds[1]),4/2,3];
m:prod(mods([i],i,1,3);
M:create list(m/mods[i],i,1,3);
create list(mod(M[i],mods[i]),1,1,3);
create list(inv mod(M[i],mods[i]),i,1,3);
create tist(M[i]*%[i]*rems[i],1,1,3});
create list(mod(%[i],m),i,1,3);
sum(%{i] . i,1,3);
x:mod(%,m);

(%07) [13,23,5]

(%08) [3,2,3]

{(%09) 1495

(%010) [115,65,299]

(%011) [11,19,4]

(%012) [6,17,4]

(%013) [2070,2210,3588]

(%014) [575,715,598]

(%015) 1888

(%016) 393

' (%117) chinese(rems,mods) ;
[mod(5*x,13) ,mod(2*x,46) ,mod(x,5)]1;
(%017) 393
(%018) [2,4,3]
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